

**ON THE PROPERTIES OF THE SECOND MOMENT OF SOLUTIONS  
OF STOCHASTIC DIFFERENTIAL-FUNCTIONAL EQUATIONS  
WITH VARYING COEFFICIENTS**

UDC 519.21

V. K. YASINS'KIĬ AND S. V. ANTONYUK

ABSTRACT. Sufficient conditions for the mean square stability of solutions of linear stochastic differential-functional Itô–Skorokhod equations with unbounded aftereffect are obtained in the paper. The critical case is also studied.

1. ASYMPTOTIC MEAN SQUARE STABILITY

Let  $(\Omega, \mathcal{F}, \mathbb{P})$  be a probability space and

$$\{\mathcal{F}_t, t \geq 0\}, \quad \mathcal{F}_t \subset \mathcal{F},$$

a current of minimal  $\sigma$ -algebras. Further let  $\mathbb{R}$  be the real one-dimensional Euclidean space equipped with the norm  $|\cdot|$ , and  $D_0$  the Skorokhod space of functions  $\{\varphi(\theta)\} \subset \mathbb{R}$  defined on  $(-\infty, 0]$ . Every function  $\varphi(\theta)$  of  $D_0$  has no discontinuities of the second kind, has the left limit at every point of discontinuity, is right continuous, and has the limit as  $\theta \rightarrow -\infty$  [4].

Let  $\{x(t) \equiv x(t, \omega)\} \subset \mathbb{R}$  be a stochastic process defined for  $t \geq 0$  by the stochastic differential-functional Itô–Skorokhod equation

$$(1) \quad dx(t) = a(t, x_t) dt + b(t, x_t) dw(t) + \int_{\mathbb{R}} g(t, x_t, u) \bar{v}(dt, du),$$

$$(2) \quad x(t) = \varphi(t) \quad \text{for all } t \in (-\infty, 0]$$

(see [1], [2], [5]) where  $\varphi \in D_0$ ; in what follows the trajectory  $\{x(t)\} \subset \mathbb{R}$  up to the moment  $t \geq 0$  is denoted by  $x_t \equiv \{x(t + \theta), -\infty < \theta \leq 0\}$ ;  $\{w(t) \equiv w(t, \omega)\} \subset \mathbb{R}$  is a one-dimensional Wiener process;  $\bar{v}(t, A) \equiv v(t, A) - t\Pi(A)$ ,  $A \subset \mathbb{R}$ , is a centered Poisson measure in  $\mathbb{R}$  with parameter  $t\Pi(A) \equiv \mathbb{E}\{\nu(t, A)\}$  where  $\{w(t)\}$  and  $\{\bar{v}(t, A)\}$  are independent and  $\mathcal{F}_t$ -measurable for  $t \geq 0$ .

The coefficients  $a$ ,  $b$ , and  $g$  are linear functionals for any  $t \geq 0$  defined on  $\mathbb{R}_+ \times D_0$ ,  $\mathbb{R}_+ \times D_0$ , and  $\mathbb{R}_+ \times D_0 \times \mathbb{R}$ , respectively. We treat  $D_0$  as a metric space with the Skorokhod metric  $\rho_D$  (see [4, Chapter VI, §5]).

To facilitate the discussion of the behavior of stochastic processes  $\{x(t)\} \subset \mathbb{R}$  without discontinuities of the second kind, a simpler metric is often considered (see [3]). This metric is generated by the seminorm

$$(3) \quad \|\varphi\|_* \equiv \left\{ \int_{-\infty}^0 |\varphi(\theta)|^2 \mathbb{K}(d\theta) \right\}^{1/2}$$

---

2000 *Mathematics Subject Classification.* Primary 60F15, 60G42; Secondary 62H12, 62J05.

where  $\mathbb{K}(\cdot)$  is some finite measure defined on the Borel sets of  $(-\infty, 0]$ , that is,

$$\mathbb{K}(-\infty, 0) = \mathbb{K} < \infty.$$

**Definition 1.** Let  $L_t$  be the  $\sigma$ -algebra of Borel sets on  $(-\infty, t]$ . A separable stochastic process  $\{x(t)\} \subset \mathbb{R}$  defined by relation (2) for  $t \in (-\infty, 0]$ , measurable with respect to the  $\sigma$ -algebra  $\mathcal{F}_t \times L_t$ , and satisfying for all  $t \geq 0$  the integral Itô-Skorokhod equation

$$(4) \quad x(t) = \varphi(0) + \int_0^t a(s, x_s) ds + \int_0^t b(s, x_s) dw(s) + \int_0^t \int_{\mathbb{R}} g(s, x_s, u) \bar{\nu}(ds, du)$$

with probability one, is called a solution of the stochastic differential-functional equation (1) with initial condition (2).

We denote by  $H_0$  the space of  $\mathcal{F}_0$ -measurable functions  $\varphi: (-\infty, 0] \times \Omega \rightarrow \mathbb{R}$  equipped with the norm

$$(5) \quad \|\varphi\|_0 \equiv \left\{ \sup_{-\infty < \theta \leq 0} \mathbb{E} \left\{ |\varphi(\theta)|^2 \right\} \right\}^{1/2}.$$

Assume that  $a, b: \mathbb{R}_+ \times D_0 \rightarrow \mathbb{R}$  and  $g: \mathbb{R}_+ \times D_0 \times \mathbb{R} \rightarrow \mathbb{R}$  are functionals, measurable with respect to all their arguments and such that

$$(6) \quad |a(t, \varphi)|^2 + |b(t, \varphi)|^2 + \int_{\mathbb{R}} |g(t, \varphi, u)|^2 \Pi(du) \leq L \int_{-\infty}^0 (1 + |\varphi(\theta)|^2) dK(\theta),$$

$$(7) \quad \begin{aligned} & |a(t, \varphi) - a(t, \psi)|^2 + |b(t, \varphi) - b(t, \psi)|^2 + \int_{\mathbb{R}} |g(t, \varphi, u) - g(t, \psi, u)|^2 \Pi(du) \\ & \leq L \int_{-\infty}^0 (|\varphi(\theta) - \psi(\theta)|^2) dK(\theta) \end{aligned}$$

for all  $t \geq 0$  where  $L > 0$  is a constant.

Then according to [4, Chapter II, §1, Theorems 3 and 4] and [3, Theorem 6.2.1], in the space  $D_0$  there exists a unique (up to stochastic equivalence) solution of the problem (1), (2) such that

$$(8) \quad \begin{aligned} & \mathbb{E} \left\{ \sup_{0 \leq s \leq T} |x(s)|^2 / \mathcal{F}_t \right\} \leq A (1 + \|\varphi\|_0^2), \\ & \mathbb{E} \left\{ \sup_{t \leq s \leq t+h} |x(s) - x(t)|^2 / \mathcal{F}_t \right\} \leq B (1 + \|\varphi\|_0^2) h \end{aligned}$$

where  $A > 0$  and  $B > 0$  are constants depending on  $T > 0$ ,  $L > 0$ , and  $K > 0$ .

Denote by  $\{h(t, s)\} \subset \mathbb{R}$  the fundamental solution of the deterministic equation

$$(9) \quad dy(t) = a(t, y_t) dt$$

with the initial function  $\eta$  such that  $\eta(t) = 0$  for  $t < s$  and  $\eta(t) = 1$  for  $t = s$ . Using  $\{h(t, s)\}$ , the solution of the problem (1), (2) can be rewritten in the integral form [8]:

$$(10) \quad x(t) = y(t) + \int_0^t h(t, s) b(s, x_s) dw(s) + \int_0^t \int_{\mathbb{R}} h(t, s) g(s, x_s, u) \bar{\nu}(ds, du)$$

where  $\{y(t)\}$  is a solution of equation (9) with nonrandom initial function  $\{\varphi(t)\}$  (see (2)).

Now we obtain sufficient conditions for the mean square asymptotic stability of the trivial solution of the problem (1), (2).

**Theorem 1.** Assume that

- 1) the trivial solution of equation (9) is exponentially stable;

2) the fundamental solution of equation (9) is such that

$$(11) \quad d = \overline{\lim}_{t \rightarrow \infty} d(t) = \overline{\lim}_{t \rightarrow \infty} \int_0^t \left[ b^2(t, h_t(\theta, s)) + \int_{\mathbb{R}} g^2(t, h_t(\theta, s), u) \Pi(du) \right] ds < 1;$$

3) the functionals  $a(t, \cdot)$ ,  $b(t, \cdot)$ , and  $g(t, \cdot, u)$  are uniformly bounded with respect to  $t$  and  $u \in \mathbb{R}$  in the norm (5) of the space  $D_0$  where  $\Pi(du) = du/|u|^2$ .

Then the trivial solution of the problem (1), (2) is mean square asymptotically stable.

*Proof.* Using equation (10) at the moment  $t + \theta$  and applying the linear operators  $b(t, \cdot)$  and  $g(t, \cdot, u)$  [6] we obtain

$$\begin{aligned} b(t, x_t) &= b(t, y_t) + \int_0^t b(t, h_t(\theta, s))b(s, x_s) dw(s) \\ &\quad + \int_0^t \int_{\mathbb{R}} b(t, h_t(\theta, s))g(s, x_s, u) \bar{v}(ds, du), \\ g(t, x_t, u) &= g(t, y_t, u) + \int_0^t g(t, h_t(\theta, s), u)b(s, x_s) dw(s) \\ &\quad + \int_0^t \int_{\mathbb{R}} g(t, h_t(\theta, s), u)g(s, x_s, u) \bar{v}(ds, du). \end{aligned}$$

Now we square both sides of the latter two equations, then take the mathematical expectation ( $\mathbf{E}\{\cdot\}$ ), and use some properties of the stochastic integral [3]. As a result we get

$$\begin{aligned} \mu_b(t) &= b^2(t, y_t) + \int_0^t b^2(t, h_t(\theta, s))\mu_b(s) ds + \int_0^t \int_{\mathbb{R}} b^2(t, h_t(\theta, s))\mu_g(s, u)\Pi(du) ds, \\ \int_{\mathbb{R}} \mu_g(t, u) \Pi(du) &= \int_{\mathbb{R}} g^2(t, y_t, u) \Pi(du) + \int_0^t \int_{\mathbb{R}} g^2(t, h_t(\theta, s), u)\mu_b(s) \Pi(du) ds \\ &\quad + \int_0^t \int_{\mathbb{R}} \int_{\mathbb{R}} g^2(t, h_t(\theta, s), u)\mu_g(s, u_1) \Pi(du) \Pi(du_1) ds \end{aligned}$$

where

$$\mu_b(t) \equiv \mathbf{E} \{ b^2(t, x_t) \}, \quad \mu_g(t, u) \equiv \mathbf{E} \{ g^2(t, x_t, u) \}.$$

After the summation of these equations we get

$$(12) \quad m(t) = f(t) + \int_0^t \left[ b^2(t, h_t(\theta, s)) + \int_{\mathbb{R}} g^2(t, h_t(\theta, s), u) \Pi(du) \right] m(s) ds$$

where

$$m(t) \equiv \mu_b(t) + \int_{\mathbb{R}} \mu_g(t, u) \Pi(du), \quad f(t) \equiv b^2(t, y_t) + \int_{\mathbb{R}} g^2(t, y_t, u) \Pi(du).$$

According to the definition of sup, for a given  $\varepsilon > 0$  we find  $T > 0$  such that  $\sup_{s \geq T} d(s) \leq d + \varepsilon$  for  $t \geq T$ . Put

$$M(t, T) \equiv \max_{T \leq s \leq t} m(s).$$

Taking into account (11) we obtain

$$\begin{aligned} M(t, T) &\leq \max_{T \leq \tau \leq t} f(\tau) + \max_{T \leq \tau \leq t} \int_0^T \left[ b^2(\tau, h_\tau(\theta, s)) + \int_{\mathbb{R}} g^2(\tau, h_\tau(\theta, s), u) \Pi(du) \right] m(s) ds \\ &\quad + \max_{T \leq \tau \leq t} d(\tau)M(t, T). \end{aligned}$$

The contraction principle [6] implies that

$$\overline{\lim}_{t \rightarrow \infty} M(t, T) < \infty.$$

Relation (11) yields

$$(13) \quad m(t) \leq f(t) + \int_0^{T_1} \left[ b^2(t, h_t(\theta, s)) + \int_{\mathbb{R}} g^2(t, h_t(\theta, s), u) \Pi(du) \right] ds \\ + \sup_{\tau \geq T_1} d(\tau) M(t, T_1)$$

for all  $t$  and  $T_1$  such that  $t \geq T_1$ .

The assumptions of Theorem 1 allow one to apply the Lebesgue dominated convergence theorem [6], since  $m(t) < \infty$ . Thus

$$\overline{\lim}_{t \rightarrow \infty} \left\{ f(t) + \int_0^{T_1} \left[ b^2(t, h_t(\theta, s)) + \int_{\mathbb{R}} g^2(t, h_t(\theta, s), u) \Pi(du) \right] \right\} ds = 0.$$

Relation (12) implies that

$$\overline{\lim}_{t \rightarrow \infty} m(t) \leq (d + \varepsilon) \overline{\lim}_{t \rightarrow \infty} M(t, T_1) \leq (d + \varepsilon) \overline{\lim}_{t \rightarrow \infty} m(t).$$

If  $\varepsilon > 0$  is sufficiently small, then it follows from (11) that  $\overline{\lim}_{t \rightarrow \infty} m(t) = 0$ .

Now equation (10) yields

$$\mathbf{E} \{x^2(t)\} = y^2(t) + \int_0^t h^2(t, s) m(s) ds.$$

It is clear that for any  $\varepsilon > 0$  there exists  $T > 0$  such that  $m(t) < \varepsilon$  for all  $t \geq T$ . Thus assumption 2) of Theorem 1 implies that

$$\mathbf{E} \{x^2(t)\} \leq y^2(t) + \int_0^T h^2(t, s) m(s) ds + p\varepsilon.$$

Now, using assumption 1) of Theorem 1, we pass to the limit in the last inequality and obtain

$$\overline{\lim}_{t \rightarrow \infty} \mathbf{E} \{x^2(t)\} \leq p\varepsilon,$$

which means that  $\lim_{t \rightarrow \infty} \mathbf{E} \{x^2(t)\} = 0$ .

Note that  $\mathbf{E} \{x^2(t)\}$  continuously depends on the initial function  $\{\varphi(\theta)\}$ , since the operators defined by the integral equation for  $\mathbf{E} \{x^2(t)\}$  are bounded (see [6]). This completes the proof of Theorem 1.  $\square$

## 2. THE CRITICAL CASE

The critical case is considered in [1, 2, 8] for the solution of a stochastic differential-functional equation with aftereffect. Consider the problem of the mean square stability of a trivial solution of the stationary stochastic differential-functional equation with unbounded aftereffect:

$$(14) \quad dz(t) = a(z_t) dt + b(z_t) dw(t) + \int g(z_t, u) \bar{v}(dt, du)$$

for the critical case

$$(15) \quad \int_0^\infty \left[ b^2(h_t) + \int_{\mathbb{R}} g^2(h_t, u) \Pi(du) \right] dt = 1.$$

It is known [10] that there exists an initial function  $\{\varphi(\theta)\}$  for the stochastic differential-functional equation (14) such that

$$\lim_{t \rightarrow \infty} \mathbf{E} \{x^2(t)\} \neq 0 \quad (\neq \infty).$$

Let a stochastic process  $x \in \mathbb{R}$  be defined by the equation

$$(16) \quad dx(t) = a(x_t) dt + (1 + \beta(t))b(x_t) dw(t) + \int_{\mathbb{R}} (1 + \gamma(t))g(x_t, u) \bar{v}(dt, du),$$

$$(17) \quad x(\theta) = \varphi(\theta) \quad \text{for all } \theta \in (-\infty, 0],$$

where  $\varphi \in D_0$ ;  $a$ ,  $b$ , and  $g$  are functionals defined on  $D_0$  and  $D_0 \times \mathbb{R}$ , respectively;  $\{w(t)\}$  is a homogeneous Wiener process; and  $\bar{v}(t, A)$  is a centered Poisson measure with parameter  $t\Pi(A)$ . We assume that  $w(t)$  and  $\bar{v}$  are independent.

We denote by  $\mathcal{N}_1$  the set of scalar functions  $\{\alpha(t)\}$  continuous on  $[0, \infty)$  and such that  $\int_0^\infty |2\alpha(t) + \alpha^2(t)| dt < \infty$ , and by  $\mathcal{N}_2$ , the set of scalar functions  $\Delta(t) \geq 0$  continuous on  $[0, \infty)$  and such that  $\int_0^\infty (2\Delta(t) + \Delta^2(t)) dt = \infty$ .

**Theorem 2.** *Assume that*

- 1) *the trivial solution of equation (9) is exponentially stable;*
- 2) *condition (15) holds.*

*Then the trivial solution of the stochastic differential-functional equation (15) is*

- I) *mean square stable if  $\alpha(t) \equiv \max\{\beta(t), \gamma(t)\} \in \mathcal{N}_1$  is decreasing;*
- II) *mean square unstable if  $\alpha(t) \equiv \min\{\beta(t), \gamma(t)\} \in \mathcal{N}_2$  is increasing.*

*The symbol  $\max\{\beta(t), \gamma(t)\}$  stands for the supremum of functions  $\{\alpha(t)\}$  such that*

$$\alpha(t) \geq \beta(t) \quad \text{and} \quad \alpha(t) \geq \gamma(t) \quad \text{for all } t \geq 0,$$

*while  $\min\{\beta(t), \gamma(t)\}$  stands for the infimum of functions  $\{\bar{\alpha}(t)\}$  such that*

$$\bar{\alpha}(t) \leq \beta(t) \quad \text{and} \quad \bar{\alpha}(t) \leq \gamma(t) \quad \text{for all } t \geq 0.$$

*Proof.* Let  $\beta \in \mathcal{N}_1 \vee \mathcal{N}_2$ . If  $\{h(t)\}$  is the fundamental solution of equation (9), then a solution of problem (16), (17) can be represented in the form

$$(18) \quad \begin{aligned} x(t) = y(t) &+ \int_0^t h(t-s)(1 + \beta(s))b(x_s) dw(s) \\ &+ \int_0^t \int_{\mathbb{R}} h(t-s)(1 + \gamma(s))g(x_s, u) \bar{v}(ds, du) \end{aligned}$$

(see [1]) where  $\{y(t)\}$  is a solution of stationary equation (9) constructed for initial condition (17).

We apply the operators  $(1 + \beta(t))b(\cdot)$  and  $(1 + \gamma(t))g(\cdot, u)$  to both sides of equation (16). Then we proceed in the way that led to equation (11) and obtain for all  $t \geq 0$  that

$$(19) \quad m(t) = f(t) + \int_0^t \left[ (1 + \beta(s))^2 b^2(h_{t-s}) + (1 + \gamma(s))^2 \int_{\mathbb{R}} g^2(h_{t-s}, u) \Pi(du) \right] m(s) ds$$

where

$$\begin{aligned} m(t) &\equiv (1 + \beta(t))^2 \mu_b(t) + (1 + \gamma(t))^2 \int_{\mathbb{R}} \mu_g(t, u) \Pi(du); \\ \mu_b(t) &\equiv \mathbf{E} \{b^2(x_t)\}; \quad \mu_g(t, u) \equiv \mathbf{E} \{g^2(x_t, u)\}; \\ f(t) &\equiv (1 + \beta(t))^2 b^2(y_t) + (1 + \gamma(t))^2 \int_{\mathbb{R}} g^2(y_t, u) \Pi(du). \end{aligned}$$

I) Let  $\beta \in \mathcal{N}_1$  and  $\gamma \in \mathcal{N}_1$  be decreasing. We check that  $\{m(t)\}$  is bounded. First we show that  $\{\overline{m}(t)\}$  is bounded and is a solution of the equation

$$(20) \quad \overline{m}(t) = f(t) + \int_0^t (1 + \alpha(s))^2 k(t-s) \overline{m}(s) ds$$

where  $\alpha(t) \equiv \max\{\beta(t), \gamma(t)\}$  for all  $t \geq 0$ , and  $k(t) \equiv b^2(h_t) + \int_{\mathbb{R}} g^2(h_t, u) \Pi(du)$ . It is clear that solutions of equations (19) and (20) are such that  $m(t) \leq \overline{m}(t)$ . Further, in view of the first assumption of Theorem 2 the functions  $\{f(t)\}$  and  $\{k(t)\}$  are such that

$$(21) \quad f(t) + k(t) \leq N e^{-\varepsilon t} \quad \text{for all } t \geq 0$$

where  $N > 0$  and  $\varepsilon > 0$  are some constants.

Applying the Laplace transform we rewrite equation (17) as follows:

$$(22) \quad \overline{m}(t) = f(t) + \int_0^t H(t-s) H(t-s) f(s) ds + \int_0^t H(t-s) \tau(s) \overline{m}(s) ds$$

(see [7]) where  $\tau(s) = 2\alpha(s) + \alpha^2(s)$ ,

$$H(t) \equiv k(t) + \int_0^t k(t-s) k(s) ds + \int_0^t \int_0^s k(t-s) k(s-s_1) k(s_1) ds ds_1 + \dots$$

Indeed, applying the Laplace transform to equation (22) we obtain

$$M(\lambda) = F(\lambda) + \overline{K}(\lambda) M(\lambda) + \overline{K}(\lambda) L \{\tau(s) \overline{m}(s)\}$$

(see [7]) where  $\overline{K}$  and  $\overline{m}$  are the Laplace transforms of  $K$  and  $m$ , respectively. Thus

$$M(\lambda) = \frac{F(\lambda)}{1 - \overline{K}(\lambda)} + \frac{\overline{K}(\lambda)}{1 - \overline{K}(\lambda)} L \{\tau(s) \overline{m}(s)\}.$$

Expanding the fraction  $1/(1 - \overline{K}(\lambda))$  into the series for  $\lambda \neq 0$  we obtain from assumption 2) of Theorem 2 that

$$M(\lambda) = F(\lambda) + F(\lambda) [\overline{K}(\lambda) + \overline{K}^2(\lambda) + \dots] + L \{\tau(s) \overline{m}(s)\} [\overline{K}(\lambda) + \overline{K}^2(\lambda) + \dots].$$

Applying the inverse Laplace transform we reduce  $\overline{m}(t)$  to the right-hand side of (22).

Since  $\int_0^\infty k(t) dt = 1$ , we apply the Laplace transform and show that  $H(t) = C + \delta(t)$  where  $C = \text{const} > 0$  and  $\{\delta(t)\}$  is a continuous function on  $[0, \infty)$  such that

$$(23) \quad \lim_{t \rightarrow \infty} \delta(t) = 0.$$

Then

$$\overline{m}(t) \leq B + A \int_0^t |\tau(s)| \overline{m}(s) ds \quad \text{for all } t \geq 0$$

where  $B \equiv \sup_{t \geq 0} \int_0^t H(t-s) f(s) ds \in (0, \infty)$  and  $A \equiv \sup_{t \geq 0} H(t) \in (0, \infty)$ . It follows from the Gronwall–Bellman lemma [4] that

$$\overline{m}(t) \leq B \exp \left\{ A \int_0^t |\tau(s)| ds \right\} \quad \text{for all } t \geq 0.$$

Let  $\alpha \in \mathcal{N}_1$ . Then

$$\int_0^\infty |\tau(s)| ds < \infty,$$

whence  $\sup_{t \geq 0} \overline{m}(t) < +\infty$  and  $\sup_{t \geq 0} m(t) < +\infty$ . Squaring both sides of equation (16) and applying the operator of the mathematical expectation we get

$$(24) \quad \mu(t) = y^2(t) + \int_0^t h^2(t-s) m(s) ds \quad \text{for all } t \geq 0$$

where  $\mu(t) \equiv \mathbb{E} \{x^2(t)\}$  and  $\{m(t)\}$  is the function defined above. Note that

$$(25) \quad y^2(t) + h^2(t) \leq \mathbb{E} \exp(-\varepsilon_1 t) \quad \text{for all } t \geq 0$$

for some positive constants  $M > 0$  and  $\varepsilon_1 > 0$ .

According to (20),  $\sup_{t \geq 0} m(t) < \infty$  and  $\int_0^\infty |\tau(s)| ds < \infty$ . Relation (24) implies that  $\sup_{t \geq 0} \mu(t) < \infty$ . This completes the proof of the first part of the theorem, since the function  $\varphi \in D_0$  is arbitrary and the mean square stability of solutions of linear systems is equivalent to the mean square boundedness of every solution (see [2]).

II) Consider the increasing function  $\bar{\alpha}(t) \equiv \min \{\beta(t), \gamma(t)\} \in \mathcal{N}_2$ . We show that the function  $\{m(t)\}$  defined by equation (19) is unbounded. First we check that the function  $\bar{m}(t) \leq m(t)$  is unbounded and is a solution of the equation

$$\bar{m}(t) = f(t) + \int_0^t (1 + \bar{\alpha}(s))^2 k(t-s) \bar{m}(s) ds$$

or, equivalently, of the equation

$$(26) \quad \bar{m}(t) = f(t) + \int_0^t H(t-s) f(s) ds + \int_0^t H(t-s) \tau(s) \bar{m}(s) ds$$

where  $\{f(t)\}$ ,  $\{\tau(t)\}$ ,  $\{k(t)\}$ , and  $\{H(t)\}$  are defined above.

Using assumption 2) we first consider the initial deterministic function  $\varphi \in D_0$  for the solution  $\{y(t)\}$  of equation (9) such that

$$(27) \quad \int_0^\infty f(t) dt > 0.$$

Consider equation (26). Using (18), (19), and (27) we get

$$\lim_{t \rightarrow \infty} \int_0^t H(t-s) f(s) ds > 0,$$

whence

$$(28) \quad \lim_{t \rightarrow \infty} \int_0^t H(t-s) \tau(s) \left[ \int_0^s H(s-s_1) f(s_1) ds_1 \right] ds = \infty,$$

since  $\int_0^\infty \tau(s) ds = \infty$  (the latter integral is infinite in view of  $\bar{\alpha} \in \mathcal{N}_2$ ).

Taking (27) and integral equality (26) into account we obtain

$$\bar{m}(t) \geq \int_0^t H(t-s) f(s) ds + \int_0^t H(t-s) \tau(s) \left[ \int_0^s H(s-s_1) f(s_1) ds_1 \right] ds$$

for all  $t \geq 0$ .

Then it follows from (28) that  $\lim_{t \rightarrow \infty} \bar{m}(t) = \infty$ . Hence  $\lim_{t \rightarrow \infty} m(t) = \infty$ , since  $\bar{m} \leq m(t)$ . Relation (24) leads to  $\lim_{t \rightarrow \infty} \mu(t) = \infty$ , which completes the proof of part 2) of Theorem 2. □

#### BIBLIOGRAPHY

1. V. E. Slyusarchuk, E. F. Tsar'kov, and V. K. Yasins'kiĭ, *The stability of the solutions of linear differential-functional equations under random perturbations of the parameters*, Ukrain. Mat. Zh. **25** (1973), no. 3, 412–418; English transl. in Ukrainian Math. J. **25** (1974), no. 3, 338–343. MR0331514 (48:9847)
2. V. E. Slyusarchuk and V. K. Yasins'kiĭ, *Stability of solutions of stochastic functional-differential equations in the critical case*, Izv. AN BSSR Ser. fiz.-mat. nauk (1977), 109–115. (Russian)
3. A. V. Skorokhod, *Studies in the Theory of Random Processes*, Kiev University, Kiev, 1961; English transl., Addison-Wesley Publishing Co. Inc., Reading, Mass., 1965. MR0185620 (32:3082a); MR0185620 (32:3082b)

4. I. I. Gikhman and A. V. Skorokhod, *The Theory of Stochastic Processes*, vol. 3, "Nauka", Moscow, 1973; English transl., Springer-Verlag, New York, 1979. MR0651014 (58:31323a); MR0651014 (58:31323b)
5. I. I. Gikhman and I. I. Kadyrova, *Certain results of the study of stochastic differential equations*, Theory Random Process. **1** (1973), 51–68. (Russian) MR0391259 (52:12080)
6. A. N. Kolmogorov and S. V. Fomin, *Elements of the Theory of Functions and Functional Analysis*, "Nauka", Moscow, 1968; English transl., vol. 1, Graylock Press, Rochester, NY, 1957; vol. 2, 1961. MR0234241 (38:2559); MR0085462 (19:44d)
7. G. Dötsch, *Handbuch der Laplace-Transformation*, Birkhäuser, Basel, 1956. MR0084635 (18:894c)
8. L. I. Yasinskaya, *Mean square stability of the trivial solution of linear stochastic functional-differential equations with variable coefficients*, Ukrain. Mat. Zh. **33** (1981), no. 4, 482–489; English transl. in Ukrainian Math. J. **33** (1982), no. 4, 367–372. MR0627723 (82k:60128)
9. E. A. Andreeva, V. B. Kolmanovskii, and L. E. Shaikhet, *Control of Systems with Aftereffect*, "Nauka", Moscow, 1992. (Russian) MR1185708 (93i:49001)
10. V. K. Yasins'kiĭ and S. V. Antonyuk, *The mean square stability of differential-functional equations with the whole history*, Proceedings of the Second International Conference on Applied Mathematics APLIMAT (February 5–7, 2003, Bratislava), Slovak Technical University, Bratislava, 2003, pp. 725–732.

DEPARTMENT OF MATHEMATICS, CHERNIVTSI NATIONAL YURIY FEDKOVICH UNIVERSITY, UNIVERSITETS'KA STREET 28, CHERNIVTSI 58012, UKRAINE  
*E-mail address:* yasik@cv.ukrtel.net

DEPARTMENT OF MATHEMATICS, CHERNIVTSI NATIONAL YURIY FEDKOVICH UNIVERSITY, UNIVERSITETS'KA STREET 28, CHERNIVTSI 58012, UKRAINE

Received 8/APR/2003

Translated by V. SEMENOV